


(Scissors)

侧切钳�

剪刀

尖嘴钳�

Phillips Screwdriver

(Side Cutter)

(Needle-Nose Pliers)



2.5 Rod End Ball x 3�

2.5 Rod End Ball�

2.5球头

3x6x2 Bearing x 1
3x6x2 轴承

Steering Post� x 1
转向组

Front Short Tie Rod� x 2

Front short Tie Rod�

短前拉杆

M2x4 CS Screw x 1

M2x4 CS Screw 

M2x4 沉头螺丝

3x6x2 Bearing

Steering Post�



10mm

20mm

2.5 Rod End Ball�

2.5 Rod End Ball x 1
2.5球头

RH Big Flat Cap Screw�

2.5 Ball End cap

M1.6 x 5 Set Screw�

M1.6x4 CS Screw

Steering Spring�

Servo Horn 

M1.6x4 CS Screw� x 1
M1.6x4 沉头螺丝

2.5 Ball End cap x 2
球头胶

M1.6 x 5 Set Screw� x 1
M1.6 x 5 机米

Steering Spring� x 1
舵机保护弹簧

Servo Horn x 1�
舵机臂

RH Big Flat Cap Screw� x 1
内六角大平头螺丝

3*5*0.1 Spacer x 1

3*5*0.1 Spacer

3*5*0.1 垫片



Servo Mount Cover�� x 2

Servo Mount Cover��

M2x4 RH Screw

舵机盖板

M2x4 RH Screw x 4
圆头 M2x4



M1.6x4 CS Screw� x 4

M1.6x4 CS Screw�

M1.6x4 CS Screw�

M1.6x4 沉头螺丝

2x5x2.5 Bearing x 4
2x5x2.5 轴承

4x7x2.5 Flange Bearing� x 2
4x7x2.5 法兰轴承

Soild Axle Drive Cup(Long)� x 1

Soild Axle Drive Cup(Long)�

直轴接杯 长

Soild Axle Gear x 1

Soild Axle Gear

直轴齿

M2x4 RH Screw x 1

M2x4 RH Screw

圆头 M2x4

2x5x2.5 Bearing

4x7x2.5 Flange Bearing



扁位安装到位
Locating Flat Properly Seated

M2x4 RH Screw x 4

M2x4 RH Screw

M2x4 RH Screw

圆头 M2x4

Soild Axle Drive Cup(Short) x 1

Soild Axle Drive Cup(Short)

直轴接杯 短

Idler Gear x 1

Idler Gear

传动齿

Main Shaft Gear x 1

Main Shaft Gear

主轴齿

Idler Gear Shaft x 1�

Idler Gear Shaft 

波箱齿轮轴

Main Shaft� x 1�

Main Shaft� 

传动主轴�



M2x4 RH Screw x 2

M2x4 RH Screw

圆头 M2x4

Motor Mount� x 1
马达座�

Spur Gear� x 1

Spur Gear�

大齿�

Wheel Nut�� x 1

Wheel Nut��

M2 螺母

Jam Nut��� x 1

Jam Nut��� 

M2 六角螺母

Motor Mount�



M2x3 RH Screw x 2

M2x3 RH Screw

圆头 M2x3

Pinion Gear x 1

Pinion Gear

马达齿



M2x4 RH Screw x 2

M2x4 RH Screw

圆头 M2x4

Wheel Nut�� x 2 Wheel Nut��
M2 螺母

3x6x2.5 Bearing x 4

3x6x2.5 Bearing

3x6x2.5 Bearing

3x6x2.5 轴承

Front Axle x 2

Front Axle

前轮轴

2.5 Rod End Ball x 2

2.5 Rod End Ball 

2.5球头



21mm Suspension Pin x 2

21mm Suspension Pin

21mm悬挂插销

4MM Through Hole Pin Ball x 2

4MM Through Hole Pin Ball

4mm摆臂球头

Front Spring x 2

Front Spring

前轮弹簧



M2x4 RH Screw x 2

M2x4 RH Screw 

圆头 M2x4



M2x4 RH Screw

M2x4 RH Screw

Wheel Nut��

3x6x0.3 Spacer��

Rear Wheel Hub

Wheel Nut�� x 2
M2 螺母

3x6x0.3 Spacer�� x 2
3x6x0.3垫片

Rear Hub Carrier�

Rear Wheel Hub�� x 2
结合器

5x8x2.5 Bearing�� x 2
5x8x2.5垫片

5x8x2.5 Bearing

3x6x2.5 Bearing

3x6x2.5 Bearing�� x 2
3x6x2.5垫片

Rear Wheel Cup��

M2x4 RH Screw x 4
圆头 M2x4

Rear Wheel Cup�� x 2
后轮接杯

Dog Bones�

Dog Bones��� x 2
狗骨



24mm Suspension Pin x 2

24mm Suspension Pin

24mm悬挂插销

Rear spring x 2 Rear spring

后轮轮弹簧

M2x3 RH Screw x 2

M2x3 RH Screw

圆头 M2x3



M2x4 RH Screw x 2

M2x4 RH Screw

圆头 M2x4

4MM Through Hole Pin Ball x 2

4MM Through Hole Pin Ball

4mm摆臂球头



2.5 Rod End Ball x 4
2.5球头

Short Rear Tie Rod x 2

Short Rear Tie Rod

短后拉杆 2.5 Rod End Ball

2.5 Rod End Ball



车底对齐第二条刻度线
Align the bottom of the vehicle with 

the second scale line

M2x4 RH Screw x 2
圆头 M2x4

M2x4 RH Screw

ESC

Battery

请勿大力锁紧螺丝，谨防滑牙。

Do not tighten the screws too 
hard to prevent the screws 
from stripping.





拓展配件
Expansion Accessories

15.5mmTie Rod

17.1mmTie Rod

19mmTie Rod

18.2mmTie Rod

Adjustment Front Body Mount�

15.5mm拉杆

19mm拉杆

Brushed Motor Mount
有刷马达座

Brushless Motor Mount
无刷马达座

17.1mm拉杆

18.2mm拉杆

可调车舌

车舌

狗骨
Dog Bones

CVD

Front Body Mount



电池仓尺寸
Battery Compartment Size�






